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: as shown in figure ‘@’ and the tension in the cord is T, =

el immersed to the water as shown in figure

il

‘h’_ In this case the

d in water at a depth of

3 s submerge




§ When a load of 500 kg is hanping from a steel wire of length 3 m and cross s

=

em’ , the wire stretches beyond its no load length. 1T the young's m dilu
of steel is Y =2 x 10" Pa, what is the change in length of the wire beyond its ¢
(A)3.75 mm (B) 2.75 mm (C)1.75 mm (D) 0.7

7. What 15 Thermal expansion?

| . o martlele
| 1510 1§ Cie

A} The transfer of thermal energy between materials by Ihe col

decreasc

By Is a decrease in & malerials size when lemperature |

C) An increase in a matetials size when lemperaiure inereess

m All
. 'l- 5 1
8, Which ofthe 1'-‘”1m1r'.3._1_ stalements 15 lalse

in lengths of rabway line I

A) Gaps need 1o he lefi
B Bimelallic SEELp R R s o ostats. @ thormostat
switch
€) As the temperature of water 15 decreased from 4 "C o U ) i
) A change of temperature of 15 °C s equivalent to a change of temper
9. If the Ef?cfﬁc]t‘nt of linear 'E-\'Flﬂl:lhil.:l‘.'l is A the coefficient of s ‘_ al
cocfficient of cubic expansion is €. which of the
-G =aA B.A=B/2 C.B=3CR D
10. The temperature of land rises more quickly than that of the sea because
soil is
A) maore than water

D) newtral

B) equal 1o water

(':n lzss than wate
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1) initially at 25°C. How much ice,
i;ﬁnal tem;mramre of 0°C with all the e
of the glass. (Cwater = 4190 1/ kg °C and Cie =



e in its internal energy









1es equal to———
of the oscillator.

. has a wavelength of 40cm, and &
fﬂfmﬂlemmt of the medium att = 0 and x = 0 is
. The period T & linear speed of the wave are

rmm\'ely e .

= (el

ass of 1300 kg is constructed so that its frame is supported by four springs.
Two people riding in the car have a

m—

has a force constant of 20,000 N/m.
B e mass of 160 kg. Find the frequency of vibration of the car after it is driven in the
ros J.ﬂ the car oscillates ¥ vertic

M;mgallu average coefficient of linear expansion. What happens to the size of a

., rubber as it is warmed?




